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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

feyd fier (aguier fERIE) foy yoR &1 faer 72
1. Mood / TG (48)

2. Learning / 3{fRTH

3. Personality / Sfdda

4. Thought / faaR (die)

Correct Answer :-

« Mood / TG (I3)

2) Which of the following best describes the Theory of Mindset? /
fFrafafaa o ¥ F9-1 aFRed & Rigia ST 99 33T quiH HdT 82

1. Fixed mindset stops cannot be changed / fRRR AFfy®dr favm (Irtbor%ls RIS v&c\llu) P Sl Tal off
BEIE

2. Fixed mindset only brings failure / fRR AMRY%ar (hedrs AIs<de) Had SHAT Sal g
3. Growth mindset defines Intelligence /Eﬁ?{ﬂﬁﬁﬂﬂﬂ, g@aﬁﬁmﬁam%

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Fﬁ@'

AHRIGT, SHA B T A SHIAC & U H ¢adl 8, GUR IR [THRId g T 3fawR ¢l ¢

Correct Answer :-

e Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Eﬁg

ORI, SIHAd &I Th ARG $HIAC & ¥9 H GHdl 8, GURA SR faHRid 8 &1 3/awR <ot 81




3) Which of the following is a social-learning theorist? /

frufafea & & o9 wo amfee-Rian Risida o2
1. Bandura/ ST

2. Freud/ IUS

3. Wundt / g0C

4. Pavloy/ UTadld

Correct Answer :-

« Bandura/ SIg3T

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

8111781 F 9=it { 3R 98 TAS Fibe aRa a%g I gY BEdl ¢ | T8l gRT auURon fasr ufsar
@1 S T UTpfac WHTT feamar T 82

1. Analysis /ﬁnéw

2. Abstraction / GrI'E[WUT

3. Generalization / JHIH U]
4. Experience / AJHd

Correct Answer :-

« Abstraction / \’AWUT

5) Learning is generally considered a lasting change in behavior based on:/

IrH=ad: A, fA wR enenfyd soagR A ve Wit uf¥ad= AT ST 8:
1. Challenge and reinforcement / E\Fﬁﬁm 3R flﬁm

2. Challenge and experience / ﬂ:ﬁﬁ'q'[ 3R S{JHd

3. Practice and experience / 3¥TH 3R HJHd

4. Practice and challenge / 3T 3R ﬂ:ﬁﬁfm

Correct Answer :-

« Practice and experience / ¥ 3R HJHdI

6) The concept of “inner speech” was introduced in language development by: /



YT & fApTa # “3iale HIVUI” &1 SGYURUT 39 gRT R P 18 A:
1. Piaget/fﬁﬂT@f
2. Chomskyﬁl'vl'l-'\‘?fﬁ

3. Vygotsky /ATSTIoTa!
4. Skinner /RHTR

Correct Answer :-

» Vygotsky /AT DI

7) Algorithms and Heuristics are the strategies of ./

Fo fafy (Tenfan) ofik swor (gghfesm)___ ot vorifaa &
1. Teaching / TRI&f01

2. Problem Solving / HHIT HHIYTH

3. Learning / TR

4. Thinking / fdd=

Correct Answer :-

« Problem Solving / HHIT JHIYUT

8) Which of the following statements is true? /

[RUINITCEE: AR K3 CAIE RS

1. Growth is only a mental process / 3G Had T ARG Ul gl

2. Heredity doesn’t affect the learning process. /3{IaiRrdd, SIRATH Ufehar &1 guIfad 76 ®dl g

3. Development is only a quantitative process /f[d®T, %dd U AEHTHS Ui g |

4, Learning is a process of behavioral changes / STH TIERS DIRCREIEAR IR %I

Correct Answer :-

 Learning is a process of behavioral changes / 3HfeRTH WIGE'W uftad=i &1 ufshar %I

9) The ability to apply a given general principle to a particular situation is called ./



W%%ﬂwuﬁ@:ﬁﬁﬁﬁqwmﬁ@aaﬁmmﬁﬁmﬁ Pl
STar gl

1. Inductive reasoning / S{TH LY

2. Exceptional reasoning / &rran% ?‘lé
3. Deductive reasoning / IBUCEISEY

4. Logical reasoning / difde aob

Correct Answer :-

. Deductive reasoning / FTHA dd

10) What form of learning is displayed when children imitate the violence they see in their favourite
video games? /

SIRRTH BT B9 T U YSRId gid1 & 59 9= 39 G 31 79 d 3dRd @ ol 3 31 widier difsar
T # 3 82

1. Operant learning / fobaTId 3iferTH
2. Observational learning / 3faclid=T S{ERTH
3. Conditional learning / 3Fsiferd SfRTH

4. Latent learning / 3o 3ffeRTH

Correct Answer :-

« Observational learning / e {ETH

11) What involves the repetition of information so that it moves from the short term to the long term
memory? /

_TET B GeRIGRT & o AR € |ifh 7€ TY-Prei & Sre-Bref Wi a aa?
1. Coding / < Habcieh=UT

2. Rehearsal / gaivird

3. Chunking / Tt

4. Storage / UGl

Correct Answer :-

» Rehearsal / E_[af‘lw



12) Differences in behavior between two cultures can be attributed to: /
3l Ypfaal & i e R A Siar & T 58 SRR |IHT o1 Yo B
1. Geographical background / Wi %3{&[

2. Socialization /HHTSIARUT

3. Heredity/ 3@@%

4, Environment / dIdTdUT

Correct Answer :-

« Socialization /AFHATSIEHT

13) Piaget developed important stages of cognitive development. /
e A aIFEs AP e Agayul @Rl fawiyd feu)

1. Five / UM

2. Eight/ 31

3. Four /dR

4, Three /?‘ﬂ_"f

Correct Answer :-

e Four/dR

14) 1t is easier to deal with all social situations, if you are aware of your /it arTfore fRufaal |

fuem e g, it smuem™ IR A A &
1. Interests/Ff%PIﬁ

2. Talents / ﬁﬁtﬁ
3. Personality / Sfadd

4. Hobbies / SMebT

Correct Answer :-

« Personality / fdid

15) IQ scores are generally correlated with academic performance. /

AMTAR WR ifSH TR 701, Reifdre wexi= & ary HgHagUd gidl 81



1. Least/®H

2. Highly / 3/

3. Moderately / 9890 0 4
4. Perfectly / O8I TRE ¥

Correct Answer :-

« Highly / 3&fd&

16) Which part of the brain is responsible for thinking? /

HIETSP BT B IT HRT foid= & fore SreR 82

1. Medulla / T (B el
2. Limbic system / 3Udegpe 1 o (fiftae Riem)

3. Cerebellum / STARTSD (IRdeTH)

4. Cerebral cortex / THATSH deghe (ARSA D)

Correct Answer :-

o Cerebral cortex / UHRTSH dehC (@i@'ﬂ ﬁa'\‘:l')

17) Which of the following is a part of our working memory? /
frufafea 3 @ o= ot srdfia Wi o1 ve w82

1. Central executive / oI HRAGRI

2. Declarative memory / STSUIHSB fel

3. Semantic memory / ‘\TIET'JF{%

4. Sensory register / Tad! IFoRex

Correct Answer :-

o Central executive / P& HRIBRY

18) Which of these classroom practices may undermine pupils’ motivation at school? /

T 9 BIH-9 Ha F J Y faemay § faenfial &1 9o & &7 $ gadl 82

1. Teachers fail to notice students’ difficulties for remediation / QTW GRT ﬁ@m Al Eh—%_"l'lgﬁh Gl ﬁ?ﬂ:{
P o [ I Uga- | 3% d g1

2. Teachers grade pupils’ competence as high / fRrefes gR1 faenfiay ﬁ g ¥ 3 U8 aqTI



3. Teachers encourage low performing learners / fRrere gRT 9 TR A a1 e disil &1 mafsd
PRSP

4. Teachers judge high achievers as excellent in high academic standard / Rrerd gR1 3= %&@W A& |
IFVA & 0 U I SUATS YT B aTal ofel HAT

Correct Answer :-

« Teachers fail to notice students’ difficulties for remediation / TRI&f GIRT ﬁm P d)i\OdIiSq\l' CAREME
P o AU I Uga- | 3% d e

19) Which are the two Associative Learning theories? /

3 gganht ot Rrgid -3 &2

1. Classical Conditioning and Operant Conditioning / RA ST (?ﬁ‘lTﬁlW HSIT) 3R gHTS
S (MTORE BT

2. Classical Conditioning and Oppressive Conditioning / AR \’rﬂaﬂ:{ (ERTI'@IW el 3R G?d)fﬁ
SIS (HTTRRYT S

3. Classical Conditioning and Operative Conditioning / R sy (FATRIP T b S IRIHT) 3R m
SIS (Sffade HIRAF)

4. Classical Conditioning and Observant Conditioning / R 3JdYT (OMII{-IGbﬂ HSIfT) 3R fadi
X S CUENCIETCIACICINIED)
Correct Answer :-

« Classical Conditioning and Operant Conditioning / ARA 3T (?ﬁﬂﬁlw HIT) 3R gHTS
SIS (SATURC PHSIATT)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall.
Which stage is this approach? /

159 & a1 & a1 Gibe SR W 8, safere 98 Aiadt @ f6 94t & frar & ara wibg iR a7 &1 9%
TR fhd SaRT A 32

1. formal operational stage/ 3= TfhareTds srawT
2. concrete operational stage / Hﬁﬂﬁﬂ% HART

3. sensorimotor stage / HERTACR =T

4. pre operational stage /1171c TihaTH D AR

Correct Answer :-

 pre operational stage /131,:O|c Tfhard D AR



21) Eysenck added a third dimension to the personality trait, which is:/

3MEa® 1 AT P T Y ATATH B 91d P €, g HIF-91 82
1. Agreeableness/ TgHAdl (THUS)

2. Conscientiousness/ 3fafdaeefierdr @T:Qﬁl'lﬂﬁﬂ)

3. Neuroticism/ w{?ﬁ%m

4. Psychoticism/ BIEEAIE

Correct Answer :-

e Psychoticism/ qEdifesH

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting.
What problem could the child be facing? /

TP =T geaiarsl & g a1 I8} BT SaeiR 781 B HebdT 3T G ASH R SISdl @ o d $Is
Ugd | g1 Teciarel $ 6T g § | I91 fhd HwT | S5 Y67 gRI?

1. Dysgraphia / fSTUM3M
2. Attention Deficit Hyperactive Disorder / STHTHIG Ud sfaafergar faeR

3. Attention Deficit Disorder / €T 31HTd [ABHR
4. Autism / SHTTCTH ) STHTTHIG(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / &ATTHIG U sfaafergar faeR

23) Who among the following is a humanistic theorist? / Ffafafeada == TS AHaaarg!
frsiaer g2

1. Sigmund Freud / e wras
2. Ivan Pavlov / gdI+ BICHIC]

3. Aaron Beck / @T{W

4. Carl Rogers / T o

Correct Answer :-

» Carl Rogers / CANRUSE

24) Attitude towards learning is best defined as something that ./ FRATH & ufd edHiu & e
DI wuR IRUINa fParsrarg s g1



1. can be modified only by the learners themselves/ dad Rrenfdal gr1 g1 F=NfAd fosar S g
2. can be modified with age/ 3T o 1Y TR foar S Fevalt

3. can be modified by creating positive learning environments/ P RIHD S{FRTH ITATaRUT SRR SRNTIT
[ERISIKERI

4. cannot be modified/ TXNAT &Y fopam ST Tl

Correct Answer :-

» can be modified by creating positive learning environments/ HhIRTHDH SEATH TTATaRUT ST RN
o T Fepll

25) Round Robin Charts are used as a form of ./
IS AT A & U H yygad fPT e g1

1. Summative Assessment / IS TH

2. Diagnostic Assessment / EEBICCRCICIGE

3. Interim Assessment / 3fdARH 3T a-

4. Formative Assessment / XIATHD HTDH A

Correct Answer :-

o Formative Assessment / XdATHD HTh

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial
among student /

TS & HE3H H BT & o, P ia®, Seg iR A% &1 U favgd
§Gdl g1 BT UG 3|

1. Dynamic / TfchadT

2. Similarities/ THATAATY

3. Diversity / fafaerar

4. Continuities/ TR

Correct Answer :-
 Diversity / fafaerar

27) Giving a stimulus to a child once to motivate him/her is:/



TSP 9 BI §fvd 1 & e 3° I«ford s3A1 = giar 8:
1. Continuous reinforcement /ﬁwggaﬁw
2. Operant conditioning /&mmﬁ'ﬂ

3. Reinforcement / WUT

4. Neutral stimulus / dC& RGCEI

Correct Answer :-

. Reinforcement/m

28) As a teacher when you are working in a inclusive class room, your role should be: /

ﬁw%wﬁmmwwﬁaﬁm&nﬁmw@ﬁﬁ%ammﬁ

1. Punisher / 8 o ara
2. Care taker / aﬁlﬂﬂ A Tl
3. Investigator / 39D

4, Facilitator / Jgldh

Correct Answer :-

o Facilitator / Jalddh

29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude
test? /

;ﬁ?mmmﬁwmﬂwm?rwﬁw,sif‘uqﬁruﬂ&maﬁmﬁlﬁww

1. Clerical thinking/ﬁ‘lﬁ%ﬂﬁﬁiﬂ:{

2. Spatial thinking/@mﬁﬂq

3. Organisational thinking/Wﬁiﬂ?
4. Intellectual thinking/mﬁiﬂq

Correct Answer :-

e Spatial thinking/@l’l’%ﬁﬁq

30) What is the term used to denote the basic, innate disposition of a child? /



T 9 & Gd, STHuTd WHTT I FAeiUd #1 & fore fea uq &1 gai faar smar g2
1. Personality / SAfadd

2. Temperament / TavTdl T il

3. Disposition / 3

4, Attachment / Feli |

Correct Answer :-

« Temperament / U id T ST

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:

The great-- improve-- in her came in the form of acquiring knowledge.
1. --ful ... ments

2. —-ing ... mentally

3. --er .. --ment

4, -- est ... ment

Correct Answer :-
e --est.. ment

2) Read the following passage and answer the questions that follow:

For the summer holidays, Meeta and her family decided to go to Shimla. Shimla is a cool place during the hot summer months and the
heat in Delhi, where Meeta stays, becomes unbearable. Meeta's father booked the train tickets to Kalka. From there they would go by
taxi to Shimla, which is a four-hour drive away. They booked a room in Hotel Clearview, near the Mall, for three nights. From the hotel
room window you could have a wonderful view of the snowy mountains close by. Meeta and her family enjoyed the short summer
vacation in the cool weather.

In which hotel in Shimla did they stay?
1. Hotel View Clear

2. Hotel Bistro

3. Hotel Clearview

4. Hotel Pleasant View

Correct Answer :-



e Hotel Clearview

3) Read the following passage and answer the questions that follow:

For the summer holidays, Meeta and her family decided to go to Shimla. Shimla is a cool place during the hot summer months and the
heat in Delhi, where Meeta stays, becomes unbearable. Meeta's father booked the train tickets to Kalka. From there they would go by
taxi to Shimla, which is a four-hour drive away. They booked a room in Hotel Clearview, near the Mall, for three nights. From the hotel
room window you could have a wonderful view of the snowy mountains close by. Meeta and her family enjoyed the short summer
vacation in the cool weather.

How were they going to Kalka?
1. By bus

2. By train

3. Walk

4. By plane

Correct Answer :-
e By train

4) Read the following passage and answer the questions that follow:

For the summer holidays, Meeta and her family decided to go to Shimla. Shimla is a cool place during the hot summer months and the
heat in Delhi, where Meeta stays, becomes unbearable. Meeta's father booked the train tickets to Kalka. From there they would go by
taxi to Shimla, which is a four-hour drive away. They booked a room in Hotel Clearview, near the Mall, for three nights. From the hotel
room window you could have a wonderful view of the snowy mountains close by. Meeta and her family enjoyed the short summer
vacation in the cool weather.

Where did Meeta decide to go for summer holidays?
1. To Shimla
2. For a drive
3. For a walk

4. To a hotel

Correct Answer :-

e To Shimla

5) Read the following passage and answer the questions that follow:



For the summer holidays, Meeta and her family decided to go to Shimla. Shimla is a cool place during the hot summer months and the
heat in Delhi, where Meeta stays, becomes unbearable. Meeta's father booked the train tickets to Kalka. From there they would go by
taxi to Shimla, which is a four-hour drive away. They booked a room in Hotel Clearview, near the Mall, for three nights. From the hotel
room window you could have a wonderful view of the snowy mountains close by. Meeta and her family enjoyed the short summer
vacation in the cool weather.

How would they reach Shimla from Kalka?
1. Fly

2. Go by taxi

3. Go by train

4. Go by bus

Correct Answer :-

*  Go by taxi

6) Read the following passage and answer the question given below:

Martin always had a great idea for celebrating St. Patrick's Day. He didn't even have any ancestors from Ireland, but that didn't matter.
This holiday invites everyone to be Irish for one day each year. Last year, Martin, his friends and classmates got together to form a St.
Patrick's Day parade. They marched up and down the roads of the town and had a really good time. Martin decided that this year he
would have a small party and invite his closest friends. Of course, all the food, plates, and cups would be coloured green. The one thing
Martin didn't know was what kind of games.

What idea did Martin have?

1. To go for a swim

2. To celebrate St. Patrick's Day
3. To play on the road

4. To have a game

Correct Answer :-

® To celebrate St. Patrick's Day

7) Read the following passage and answer the question given below:

Martin always had a great idea for celebrating St. Patrick's Day. He didn't even have any ancestors from Ireland, but that didn't matter.
This holiday invites everyone to be Irish for one day each year. Last year, Martin, his friends and classmates got together to form a St.
Patrick's Day parade. They marched up and down the roads of the town and had a really good time. Martin decided that this year he
would have a small party and invite his closest friends. Of course, all the food, plates, and cups would be coloured green. The one thing
Martin didn't know was what kind of games.



Which country does St Patrick's Day belong to:
1. Scotland

2. Finland

3. England

4, Treland

Correct Answer :-

e Ireland

8) Read the following passage and answer the question given below:

Martin always had a great idea for celebrating St. Patrick's Day. He didn't even have any ancestors from Ireland, but that didn't matter.
This holiday invites everyone to be Irish for one day each year. Last year, Martin, his friends and classmates got together to form a St.
Patrick's Day parade. They marched up and down the roads of the town and had a really good time. Martin decided that this year he
would have a small party and invite his closest friends. Of course, all the food, plates, and cups would be coloured green. The one thing
Martin didn't know was what kind of games.

‘What colour would the plates and cups be?
1. Black

2. Red

3. Green

4, White

Correct Answer :-

e Green

9) Read the following passage and answer the question given below:

Martin always had a great idea for celebrating St. Patrick's Day. He didn't even have any ancestors from Ireland, but that didn't matter.
This holiday invites everyone to be Irish for one day each year. Last year, Martin, his friends and classmates got together to form a St.
Patrick's Day parade. They marched up and down the roads of the town and had a really good time. Martin decided that this year he
would have a small party and invite his closest friends. Of course, all the food, plates, and cups would be coloured green. The one thing
Martin didn't know was what kind of games.

How did Martin and his friends celebrate St Patrick's Day last year?

1. Went swimming



2. Had a parade
3. They did not celebrate

4. With a party

Correct Answer :-

e Had a parade

10) Convert the direct speech into indirect speech.

My father said to me, "Why did you not attend your class?”
1. My father asked me why I had not attended my class.

2. My father asked me why had I not attended my class.

3. My father said to me why I had not attended my class.

4. My father told me why did I not attend my class.

Correct Answer :-

» My father asked me why I had not attended my class.

11) Fill in the blank with the correct option in the given sentence:
A warship that can operate under water is called a --marine.

1. anti --

2. intra --

3. sub --

4, super --

Correct Answer :-
e sub --

12) Which of the following options best combines the given sentences?

The crow was sitting near a river. The crow was hungry.
1. The crow that was sitting near a river, was hungry.
2. The hungry crow it was sitting near a river.

3. The hungry crow was sitting near a river.



4. The crow, hungry, was sitting near a river.

Correct Answer :-

e The hungry crow was sitting near a river.

13) Choose appropriate articles for the given sentence:

__ expansionof _____ subway system cost ______ great deal of money.
1. The ... no article required... a

2. The ...the...a

3. No article required ...the ... no article required

4. An ... no article required... a

Correct Answer :-

e The ..the...a

14) Choose appropriate article for the given sentence:
_____water here tastes good.

1. No article

2.A

3. The

4. An

Correct Answer :-
e The

15) Choose the appropriate option that rewrites the given sentence in its passive voice.

Scientists are adopting desalination as a solution to the problem of the scarcity of usable fresh
water.

1. Desalination is being adopted by scientists as a solution to the problem of the scarcity of usable fresh water.
2. Desalination by scientists has been as a solution to the problem of the scarcity of usable fresh water.
3. Desalination is adopting scientists as a solution to the problem of the scarcity of usable fresh water.

4. Desalination, as a solution to the problem of the scarcity of usable fresh water, was adopted by scientists.



Correct Answer :-

« Desalination is being adopted by scientists as a solution to the problem of the scarcity of usable fresh water.

16) Choose the appropriate synonym for the highlighted word in the given sentence.
He held her for a moment, as if in a motionless dance.

1. quiet

2. still

3. momentary

4. movement

Correct Answer :-
o still
17) Choose the appropriate tense to fill in the blank in the given sentence:

A group of ballet dancers are performing at the theatre today on BG road. you
attending it?

1. Will
2. Aren’t
3. Have

4, Were

Correct Answer :-
e Aren’t

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Originally, many English words came from Greek and Latin.
1. Initially

2. Primarily

3. Precedingly

4. Ultimately

Correct Answer :-



o Ultimately

19) Choose the appropriate conjunction for the given sentence.

Riana likes Math English.

1. but
2. 50
3. though

4, and

Correct Answer :-

e and

20) Choose the appropriate preposition for the given sentence:
The Internet eradicates the need ____ face-to-face communication.
1. for

2. to

3. against

4. in

Correct Answer :-

« for

21) Choose an appropriate modal for the given sentence:

Every good cricketer goes through a lean patch in his career during which he bear with a lot
of criticism,

1. would
2. should
3. must

4. can

Correct Answer :-

e must



22) Choose an appropriate determiner for the given sentence:

I have visited religious shrines in my life.
1. many
2. every
3. much

4, little

Correct Answer :-

23) Choose the option that best explains the highlighted expression:
My neighbour was murdered in cold blood in broad daylight.

1. to commit a preplanned murder

2. murdered accidentally

3. murdered brutally

4. murdered when the blood was cold

Correct Answer :-

e murdered brutally

24) Choose the most suitable pronoun for the given sentence:
I’m going to get a cup of coffee.

1. oneself

2. myself

3. each other

4. yourself

Correct Answer :-

e myself

25) Read the sentence carefully and choose the option that has an error in it:



Each of us have read that when any substance burns, it unites with oxygen.

1. Each of us

2. when any substance burns,
3. have read that

4. it unites with oxygen.

Correct Answer :-

e have read that

26) Choose the appropriate s to fill in the blanks in the given sentence:

I you not to accept cash transactions?

1. Have... been told
2. Has... telling
3. Aren’t... told

4, Haven't... told

Correct Answer :-

e Haven’t... told

27) Rewrite the following changing the active sentence to passive.

If you are doing something important, you are working to make change happen.
1. If important work is being done, change is about to happen.

2. If something important is done by you, you are making change happen.

3. If something important is being done, work is being done to make change happen.

4. If something important is done, work is done to make change happen.

Correct Answer :-

 If something important is done by you, you are making change happen.

28) Choose the correct option to complete the sentence:

,won’t you ?



1. You will remember to call me
2. You will not remember to call me
3. You do not remember to call me

4. You do remember to call me

Correct Answer :-

* You will remember to call me

29) Choose the option that substitutes the given phrase appropriately.
Description to a photograph or to any other illustration

1. Title

2. Heading

3. Subtitle

4. Caption

Correct Answer :-

30) Choose the right tag:

Nitu doesn't know the secret, ?
1. isn't she

2. don't she

3. does she

4, doesn't she

Correct Answer :-

e does she

Topic:- General Urdu(L2GU)

1) A
E S EPC



gt
A .-v"L""I

2.
/4 b
S alJs

3.

Y eiduf S e
T L35 U
iy

1.

Sie

2.



F

Correct Answer :-

G

4) - .
W ore U2 p 2y e Jes 4o Sir P

a1y
N J/Lf._.;j]
N vy

. 'J/.;.._.;J}’

Correct Answer :-

. g)J/lm._.;j]

PRI PR -SE R P EE G- 3

24



Correct Answer :-
F (L

k4

st gt w2 35
. 1938

6)

1935

1936
. 1955

Correct Answer :-

1936

Correct Answer :-

./:.P.._.;J]



8)

L).?L[f’i-[f’r") £y
L e Lty
e Lad
| Lu#
L eLJF

Correct Answer :-



e

Correct Answer :-

I
4

_."
4. N1
Correct Answer :-

g

12)

o VK 3L LT
L
y S28Gs



Correct Answer :-

e

13)

P8O

1.
. . B
3. Ji;ﬁrﬁ

G
a.

Correct Answer :-



At

Correct Answer :-

3,
=

Correct Answer :-



Correct Answer :-

K

e :*:_.Jg‘;-'uj}(ﬁd,‘@;;

,
| sy
. OF

Correct Answer :-



d/ 5 JJLTTL(:

1
:*:_.L:;/L?’JJ.:_J.:.:TJ

2 o+
%L}/&JJLfTLﬂ

3, -+
L[}/{?JJL..JTK‘T

4. 4 4

Correct Answer :-

%L}/&JJL-’:JTU:‘E

A

21) {—J]; viloal



. =7

Correct Answer :-

. S lf

Correct Answer :-



i

Correct Answer :-
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f;_.:mwf Gk 2

1.
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2.

S
3.

Correct Answer :-

Y



Correct Answer :-

) h:-r'.ﬂLfJ/

28) . ¢ B Lo
PRI

, oAl



R
2.

I I
3l -

ik



Topic:- Mathematics (MAT)

1) From the sum of 2m? + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the
sum of 6n2—-m2 — 5p2 — 4mn and —m?2 + np + p2+2p. /

2m?2 + 3mn + 3p, —4m2—7mn + 5np — p2 TF 5n2 + 4np + 2p2-p F AT A F 6n2—m2 — 5p2 — 4mn TI
-m2 + np + p2+2p P TN B! YIS |

1. 11m? +8n2-— 4p? -4mn —2m? +6np + 2p
2. 3p2

3. 5p% -n% + 8np

4. 8n% - 5p2 -7mn —2m? + np + 2p

Correct Answer :-

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of
rope required? /

% fHa™ 200 Hex YoIT & TH-YTYS ATHR a1 Y A 9T T ITedT 8 | 39 foT mawas 11 $t
P @S fba=il gRIT?

1. 1400 meter / 1400 HIcx
2. 1000 meter / 1000 e
3. 600 meter / 600 e

4. 1200 meter / 1200 e

Correct Answer :-

e 1200 meter / 1200 e

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he
sells the tea set at 5% gain and the lemon set at 15% gain he gains 17. Then the actual price of the
tea set and the lemon set? /



10% P ATH TR TP 1-AT 3R 20% P ATH UR TP YAd-AUC 994 UR, TP hib] faehdl 26 FUY BT ATH U
YAl g1 IS 98 5% & ATH TR H-A<T 9YUT 15% P a1 T Ad-Uc a9dT @ df 39 17 FUd T ATH YT gidl
3, @ d1-Je vd Ida-Te T aafds e 82

1. 75, 80
2.200, 100
3. 100, 80

4. 150, 120

Correct Answer :-
« 100, 80

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one
bottle costs Rs. 98. /

TP gicd Pl TP JWiE § 91 Sidd ad &1 Taxghdl gidl g1 Ife T diad &1 @RTd 98 U §, a1 58 =i &
fore srmawg® A9 $) AN T B

1. Rs. 72384 / 72384 W
2. Rs. 75460 / 75460 =0

3. Rs. 75400 / 75400 00

4. Rs. 73892 /73892 U

Correct Answer :-
« Rs. 73892 /73892 0

5) Breaking up of the mathematical concept into smaller parts is termed as ./

T SR St Bie 3wl & dign HE1 S 5
1. synthesis / TCI0T
2. analysis / fa=qroor
3. inductive / 3THA
4. deductive / T

Correct Answer :-

o analysis / ICESLLI

6) Fill in the blanks. /



o == W

I-53+_ =53

II[11 + (-14)] - (_) = () + [(-14) + (-9)]
1.1:0, I: -9, -11

2.1:0, I: 9,-11

3.1:53, II: -9, 11

4.1:106, II: 9, 11

Correct Answer :-

. 1:106, II: 9, 11

7) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

gfe U 99 Y $T ukug 320 It g, @t SUD! TP Yol B A9TS 8:
1. 60 cm / 60 Tt

2. 80 cm / 80 I
3. 40 cm / 40 T

4.70 cm /70 99t

Correct Answer :-

o 40 cm/ 40 99t

8) Which of the following will give a whole number result? /
fFrafafaa & ¥ $19-a1 ufoma & v & ve guf e 3m?
i. 6-2

ii. 6/5

iii. 0x3

iv. 7-9

1. Alli, ii, iii, iv /a4t i, ii, iii, iv

2.i,and iv/i, T iv

3. Only i/ ®ddi

4, i, and iii /i, Td iii

Correct Answer :-

e i, and iii/i, d iii



9) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we
proved it, then it becomes a i

TN/ A (F-SHTRR) TP HY & O g9 WHd € fF 9 99 €, T g siagiq wR nutiva
3R 3R g1 3 A1fad &< fear, af g te 9 ST 2|

1. postulate / YR

2. axiom / WARIG I1 Rigid
3. theorem/ﬂﬁ’q

4, statement / PYT

Correct Answer :-

e theorem / Tag

10) Amicable numbers is discovered by ./
ECERECHC RG] FIREIRE]

1. Euclid / fdrs

2. Thales / Jg

3. Pythagoras /mgtmﬂw

4. Plato / el

Correct Answer :-

« Pythagoras / UTSYTIRY

11
) Ifu;=x;—900,% fiu; = —400,X f; = 100, then x= R

afe u, =x, — 900, fru, = —400,Xf,=1008.ar x=____
1.984
2. 546
3.782

4. 896

Correct Answer :-

» 896



12)

x—8
=i 4+2x+4
= . x°-8 !
Hedisha &Y 28, @ x &

T

Evaluate = 2 then x is:

1.2
2.1
3.3

4.4

Correct Answer :-

13) InAPQRand ALMN, PQ=NM. »P= + M. The two triangles will be congruent by
SAS axiom if :

APQRTE ALMN # PQ=NM. £P=sM @ SAT-HIT-AT F&Td &arT ar
Prerer  wahaA g, afe;

1. QR= ML

2. PR=ML

3. QR=MN

4. PR=LN

Correct Answer :-

« PR=ML

%) Inthe given figure, O is the centre of the circle, £ 0AB=60° and the radius
of the circle 6 cm. Then the area of the triangle is:

fev a7 @f@s # 0 3o 7 FF & 20AB=60"HR Fog Hr F=am
6 ®AT 8, a T[T 7T 895 &



9v/3 em? / 9+/3 &

1.
133 cm?/ 13+/3 THE
2.
72 cm? / 7+/2 TR
3.
4. 6 cm? /6 Jei2

Correct Answer :-

93 cm? / 93 GHR
15) In an equilateral triangle ABC, AD 1 BC, AD? = xBC% thenx=___
U FHEG it ABCH, ADLBC. AD? =xBC . dlx=__
2
1 4
£
2. *
:
3. 3
4.4

Correct Answer :-

|

16)
If o and 8 are the zeroes of the polynomial 3x% + 5x + 7. 'chva‘n:—3 +£% is

aﬁauﬁﬁa@ut3f+5x+?é?im%ﬁ‘r:—z+%= 21



1910

2101

190
343

37
3. 82

243

4 310

Correct Answer :-

190
343

17)

[fthe side of the equilateral triangle is 4+/3 which is inscribed inside a circle _ then the area of
the circle is:

afe; TaeTg Best 1 e 443 & S U dod & 3HeX 3ifehd &, a1 god @1 &TH &
. 36mcm?/ 36n JHR

16m cm? / 16m JHT?

2.

On cm? / 9n HH
151 cm? / 157 THP

Correct Answer :-

16m cm? / 16m THT

18)  In two triangles ABC and PQR . AB=QR BC=QP AC=RP then-

&r eIt ABC 3R PQR#, AB=QR, BC=QP, AC=RP ¢, dr:



AACB

[z

AQPR
AABC = ARQP
AABC = APQR

, AABC = AQRP

Correct Answer :-

AABC = ARQP

19) " There are 30 laddusina plate. Anil took = laddus if 10 laddus remained balance. Choose the
matching equation.

U Afell # 30 @53 ©l e A Josg o O afe 10 @53 A9 | TR A
GAferd FHIEOT &1 Tdd |

2 _10=130
2

1.
30—-2+410=0

2. -
30+10="

3. 3
30-2=10

. 2

Correct Answer :-

30—-=10
20)

ABCD is a trapezium in which AB || DC. If ar(AABD) = 24 cm? and AB = 8§ cm. then the
altitude corresponding the side AB of AABC is .

ABCD U% Ao ¢, 88 AB | DC 1 IfG(AABD) &7 alatel =24 FHIFMAB =28
& 5. dT AABCHT Hatd [T ABET 3915 __ R



1. 16 cm/ 16 H
2.8 cm/ 8 qHt
3.7 cm /7

4.6 cm/ 69t

Correct Answer :-

« 6cm/6IH

21
) If PQES is a trapezium in which PQ ||[ES and PS=0QF. then:

afe PQRS U+ THAE o, oiad PQIRS 3R PS=QRP. an:

£LP=£5
1.

LP=+R
2.

L0 =28
3.

LP=20Q
4.

Correct Answer :-

2P =2Q

22)

If c and f8 are the zeroes of a quadratic polynomial x? — 3x + 7. then the quadratic polynomial

whose zeroes a.rei and%is

= - C 1 =1 -
afe o va g Efaurd 9gUE x2-3x+7 & A &, al foAdh Yk _ g t.d8
gfaed @gug B
1.x2—3x+?
2 Txt—3x—1
3. Txi+3x+1

4 Tx?—3x+1



Correct Answer :-

Txt —3x +1

23)

The average temperature of Mondav Tuesdav and Wednesdav was 73° C, while the average
temperature of Tuesdav, Wednesdav and Thursday is 77° C. If the temperature on Thursdav was
76° C then the temperature on Monday was ————-—-—-

meﬁaww%mwﬁmmﬁwaw
3R IEaR &1 it dmAe 770 dfewad ¢ I1E TEAR HT d9ATe 760 AeTad o,
al SIFaR &1 dgA 2T

e C
1.

o &
2.

782 C
3.

i
4.

Correct Answer :-

e C

(113)*+(279)®
(113)2—113=279+(279)2

1. 113
2.392
3.279

4. 639

Correct Answer :-
e 392

25) Choose the number divisible by 6. /
6 & fauTfora g+ aTell T &1 99 B}



1. 2281
2. 2148
3. 2186
4. 2108

Correct Answer :-

e 2148

26) Choose the true statement about expression 4a3 - 37bc. /

P 4a — 37bc & HIY H Gl HYF BT 99 Br |

1. a, b and c are the three terms of 4a3 — 37bc. / 4a> — 37bc H A UG a,bUWdc gl

2. 4a3 and 37bc are the two terms of 4a> — 37bc. / 4a> — 37bc & &1 UG 4a> Td 37bc &
3. 4a> — 37bc is monomial. / 4a> — 37bc THUCHT B

4.4a3 —37bcisa polynomial. / 4a3 — 37bc qa?agqa%l

Correct Answer :-

« 423 -37bcisa polynomial. / 4a3 — 37bc WGETC{%I
27) Find 222222 x 15. / 222222 x 15 maﬁ'l

1. 3333330

2.3333335

3. 3444450

4. 4444440

Correct Answer :-
e 3333330

28) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the
numberis: /

TP T-AT Y 7 F N HA W 3N ITA A 36 e W YR W1 a8 &1 i 41 81 91l 8, & "= @:
1.9

2.7



3.4

4.8

Correct Answer :-

29) Using the divisibility test, determine which of the following numbers are divisible by 8? /
fyursigar wirg &1 Iuan B, FMuffia w3 i Fafifea § @ $19-35 wen 8 1 e 22

1. 68324

2. 98780

3. 74612

4. 37136

Correct Answer :-
e 37136

30) The term synthesis in the Bloom's Taxonomy is revised as ./
TH & BT | Xeg HRAYT Hi ¥ wu ¥ I far man g1

1. Analyzing / IEESLLI

2. Evaluating /H@T@_*T I

3. Creating / ﬁtﬁ'UT A

4. Applying / Q[T

Correct Answer :-

o Creating / EEINETEH

31) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the
area of remaining part of land? /

7 HieX |a 3T 450 A AT YT F TP ghs W 1 Hew YoIr ardt 11 FieR T3 991¢ o1 &1 4 & Qv g
P AP fha-r 82

1. 304 sq m/ 304 FHIE
2.9.5sqm/9.5 iR

3.20.5sqm/20.5 TR



4.31.5sqm/31.5 qifHiex

Correct Answer :-

e 20.5sqm/20.5 TR

32) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is
stated by: /

wTioTE, fagr 6t It ofk e Rysia (e @) T &5t I 817 9% 5999 §RT $ET T §:
1. Gauss / 19

2. Bell /

3. Fischer / fhRR

4. Bernard Thomas / - é Jjeane)

Correct Answer :-

« Gauss /79

33) What is the successor of 99999? /
99999 T} TG AT T 32

1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

« 100000

34) (-123) +132="?

1. 11

Correct Answer :-



35) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

I® IHHR0T 5x + 3y = -15 BT ITE 98 ¥@T1 8 9 x & A 33 faig R et &:

C:-6)
1.
2. (3,0)
3. (0,-5)
4. (-3,0)

Correct Answer :-

36) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

U it &1 <t 2 e 3, et s i =i (3,0), (0,0) TE (0,-3) B

1. (3,-3)

2. (-3,3)

3. (-3,-3)

4.(3.3)

Correct Answer :-

« 3.-3)

37) The mirror image of (3,-5) in y-axis is: /
y-3{&f W (3,-5) 1 guvr yfafda 3:

1. (3,5)

2.(-3,5)

3.(-3,-5)



4.(5,3)

Correct Answer :-

38) Which of the following is the equation of a line passing through the point (12,-13)? /
Frafafad & 3 o fag (12,-13) | ToR- ardt a1 ST GHIH0T 82

1. 9x+5y=11

2. Tx+5y=19

3. 2x-3y=-63

4. 9x-5y=174

Correct Answer :-

o 7x+5y=19

39) Immediate objectives are stated under ./
TPEIET & aifqaaffa gl

1. affective domain / HIdTHD U&

2. connective domain / SISl T&

3. altitude domain / 3= (‘I&'_a—dqg) q&

4. cognitive domain / T3 T&

Correct Answer :-

« cognitive domain / GTHTHD T&

40) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC % gufgarg Ay« 8, e AB=7 3wt 3k BC= 13 91t 31 T fva Ayw Hivge 82

1.2

2.1

3.0

4. More than 2 / 2 ¥ 3ifd&



Correct Answer :-

41) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1./
A (3,-1) Td B (-3,-4) B SIS Tl QT Bt 2:1 & JUTd # fautiora &= ardl fag p &1 Hg=iie gma &¢1

1. (1,-3)

2. (-1,3)

3.(-1,-3)

4.(1,3)

Correct Answer :-

42) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /
fag A (0,1), B(0,5) TG C (5,4) g1 Fffa Brys &1 eowea gra #31

1. 8 sq.units / 8 CUEEIES

2. 16 sq.units / 16 CUECIH]

3. 10 sq.units / 10 CUEEIE)

4. 5 sq.units / 5 CUREIES

Correct Answer :-

* 10 sq.units /10 CUEEIH]

43) learn by actually experiencing or carrying out physical activities. /

IRAd § SgHT H3A 71 IR nfafaft) & $37 § Hwd g
1. Kinesthetic learners / TTfauRes fRrameff
2. Auditory learners / 4dUTe® fRremeff
3. Sequential learners / 3{Igh T fRremaff
4. Visual learners / T8 fRremeif

Correct Answer :-

o Kinesthetic learners / TTfauR S fRrem off



44) The area of square that can be inscribed in a circle of radius 6 cm is ./

SATfwreewa B, O ¢ At e arell ve gu & sianta Sl fbar s awar 31
1. 144 sq cm / 144 1 9ot

2.72 sq cm /72 I T

3. 81 sq cm /81 7 Gt

4. 36 sq cm / 36 I Y

Correct Answer :-

e 72 sqcm/726|Tf@|ﬁ[

45) The great school Alexandria during 300 BC was formed by i
300 39T Jd & IR HeTH B d Sraaifgar &1 fAmfor & GIRT e mar T

1. Buclid / gfdais
2. Alexander the Great / R HglHd

3. Pythagoras / tns’uﬂﬂw
4. Aristotle / 3IRYJ

Correct Answer :-

e Alexander the Great / ez Helq

46) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-
ordinates of the other end are o

TP T4 BT H% (-1,3) W 8 TUT AT BT TP 3id BT SR (2,5) 8, A g S HTfA3md 71
1
34

2. (=41

, (00

4 (32)

Correct Answer :-

. (=41



47) If the supplement of an angle is equal to itself, then the angle is: /
Ife U BT BT TR WY P SRR 2, A ST 8:-

1. Acute angle / W‘E{W

2. Right angle / BECAW

3. Straight angle / EI'T\{EIﬁUT
4. Obtuse angle / TP BT

Correct Answer :-

» Right angle / BECAW

48) When learners makes their own definitions, concepts and theorems, they are making ./

o gt sroft afvumyn, sy R Rigia @@ aa g, d@id__ FAfflao=d &
1. precision / URF[GdT

2. generalisation / JTHTIIHROT

3. accuracy / JUTdT

4. frequence / TIRERT

Correct Answer :-

« generalisation / JTHRIHRUT

49) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52,
42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the mode of the above data? /

TS g wfaaifar ®, 15 ufaunfral @1 fow e sie (Sifrean 60 8) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40,
46, 48 TF 46 § | ST SATHST BT IgAD fba-1 32

1. 44
2.48
3.42

4. 46

Correct Answer :-

» 46



50) Find the odd one out. /
S fava S Fra HY |

1. Radius / frsa

2. Chord / SfdT

3. Triangle / Y

4. Point /ﬁi

Correct Answer :-

- Point /ﬁl@

51) A primary prerequisite for the child's ability to count is: /

¥ @1 i 9 &ia1 & fore ve wrufie =i 8:
1. None of these/%ﬂﬁ@fﬁqﬁ

2. Fluency in place value concept / &I HIH WWﬁmﬁl

3. Fluency in writing numbers /ﬂ"@ZIT g o Udle EBH

4. Fluency with number word sequence / T Ve, W%W%{Wﬁl

Correct Answer :-

. Fluency with number word sequence / T Xeq S{JhH %Wqﬂ?ﬂg%ﬁl

52) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance
with his ideals in his studio (the school)” was stated by: /

YISl Uh HATPR (R181%) & 814 § TP IUHN § &l 39 T isat (Reme) # 39 ez &
TR 39! IRl (S P 31eq & RIE 21, 98 HUF 579 §IRT BT 4T 8:

1. Cunningham | HfgH
2. H. Robert Beck / Td. J&c 9h
3. Derek Rowntree / SX& §=|:|éA|

4. W. Walter Cook / S&Y, deCr b

Correct Answer :-



e Cunningham | HfgH

53) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a
'one man's show'?/

gﬁm%wﬁrw%ﬁﬁ?ﬁﬁq’aﬁﬁﬁ?—ﬁﬁfﬁm?ﬁ%aﬁ%w'aﬂﬁqiﬁ'mwém
|

1. Lecture method / SIRHAT fafdr

2. Heuristic method / &HEIT:ﬂﬁﬁf

3. Project method / g fafdr

4, Laboratory method / TATRITET fafey

Correct Answer :-
« Lecture method / SRS fafer

54) The Father of Indian statistic is i
YRA AifSPt s w3l

1. Gauss / T

2. S.P. Gupta / T YT I[w

3. P.C. Mahalanobis / ke ngm':hﬁﬂ

4. Fischer / fheR

Correct Answer :-

« P.C. Mahalanobis / U 3. A8

55) How many whole number are there between 10999 and 11052? /
10999 TH 11052 & &t fHa-it quf G=d &2

1. 49

2.50

3.52

4. 53

Correct Answer :-

e 52



56) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with
each side 5 cm. Help Anu by finding the perimeter of the star. /

3, 3Hd GRT IWifhd fhd T YD 5 U Tt YOI 91d 5 WIEe LR ATHR & TgYS HT URATT Jid
ST ATl 8| TR BT URUTY J1d H1 § 3 Bt TgTadl B3|

1. 50 cm/ 50 9H
2. 15 cm/ 15 94
3. 75 cm/ 75 9

4,25 cm/25 9+

Correct Answer :-

e 50 cm /50 9H

57) CANCELLED

8‘.'I'EC111

3
If the volume of a vessel in the form of a right circular cylinder is 44 and its heightis 7 cm,

then the CSA of the cylinder is i

af} Uw 9 T AT F PR I TH T 7 SATaTT 448 T T3 qoy gwast Fard 7 S R, A I 1 9w
wWaaEea 3l

1. 464 sq cm / 464 T AT
2.378 sq cm /378 o QT
3.352sq cm /352 o QY

4. 482 sq cm / 482 aif et

Correct Answer :-

e 352sqcm/352 it et

58) CANCELLED

Psycho-motor activities under mathematics deals with: /
i & Sfaifa argel-wey fafafimt 9 Hafta 71
1. All of the above / IWRIad gt

2. Drawing only / PHad SidH (E'IE.TT)

3. Manipulating only / PHad Uhad (ﬁ?ﬂgﬁﬁm



4. Model making only / dad died fAato (IIV'IGFT ﬁﬁvl)

Correct Answer :-

e All of the above / IR gt

59) CANCELLED

Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under

multiplication and division.

2.Integers except zero are closed under addition, subtraction, multiplication and

division.

3.Rational numbers are closed under addition, subtraction, multiplication and

division.

Frafafed sy «w® foar &3

;gﬁgaw%mqﬁﬁwﬁﬁﬁ%w%mw@ﬁwm%m
|

2. I & BIsHR WIS, UCTd, TV T4 AU & ded [Uiie $I §¢ far srar g1

3. 9IS, UeTd, U U9 AU & ded uRAg S@nssii &t d¢ fear sar g1

1. Only statements 1 & 2 are right. / A HY 1 T 2 TA B
2. Only statements 2 & 3 are right. / Had HY 2 T 3 T B
3. All the three statements are right. / FH i+ HU= T gl

4. All three statements are wrong. / I+ A YT ST B

Correct Answer :-

o All three statements are wrong. /gt Y U 3 %I

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines
intersecting at a unique point? /

g‘lﬂﬂlﬂ4x—2y= 3 Td kx + y =5 & T fa=iy fig W qF ufasddl Yamsii &1 a=ii= & g 'k’ &1 w1 fpamn
?



Correct Answer :-

ks -2



